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(145 B+100m]

SR 1179 AR R e 19814
KE Ht 2 B 19844
BF P 14100m TR
#E |BES KE & | B4 = ik |38 B |BS KE & | 284 = FoEk |
1 1| 7025+ Em#k *x & 1 |g [13.1 2| 1| 7350l B2 £ & 1 13.9
2| 73558 5 + & 1 14.3 2| 735[N {EFR + & 1 145
3| 725|[% & it 1 14.8 3] 701[1lLD BE E 1 15.3
4| 725;0H S |db 1 15.7 4| 725|@EA @ik |dt 1 15.4
5| 701|lUH X |[F ¥ 1 15.9 5| 728|12EA BE |# & 1 16.2
7283 1EE % & 1 DNS 6] 701|fER Fth |F W 1 16.6
735|HH ZE + & 1 DNS 735\ BEARR |+ & 1 DNS
735|8 Stih T & 1 DNS 728 FEE |tk & 1 DNS
3 1| 725[3RF #hA _ [dt 1 [q [14.2 4| 1| 735(chF FEH | & 1 12.8
2| 735| =M X | & 1 14.3 2| 725K &k |4t 1 13.8
3| 7358l EE |+ &£ 1 145 3| 728|553 EEEy |k B 1 14.0
4] 1225 HE [ B 1 14.8 4] 701[/vik R |E W 1 14.4
5| 725|&#2/8 hE |4t 1 14.9 5| 701|#% BX E B 1 14.6
6| 735|8kE &/ | & 1 15.4 6] 728|iBL #HE |#k & 1 15.1
7] 725(#H# EF |db 1 15.4 735|H L R (£ & 1 DNS
8| 735/MIl GEBAE |+ & 1 175
5 1| 735[KR* HE [+ & 1 15.4 6| 1] 725/AW BEX (4 1 13.1
2| 725|FE X |4 1 15.9 2| 735[8RR KE (£ & 1 13.6
3| 702|ffE EE | B 1 16.0 3| 701[dLRE Al E B 1 14.4
4] 735|%HA EX [+ & 1 16.1 4] 70118 mEH 5 3% 1 15.3
5| 101|ER Bt [F B 1 18.0 5| 728|1RE8 FE | B 1 15.9
735(3E X 45 + &£ 1 DNS 72815k % A 1 DNS
725|858 RA [db 1 DNS 735|ithE HiE £ & 1 DNS
735|2H ME |+ & 1 DNS
B8t hZ 14£100m Rk
B |ES| K £ FRE ¥ ARk
1[ 702 |+ &k *x & 1 12.7
2| 735 | FE FEL | £ & 1 13.0
3[ 725 [FL B |4k 1 13.4
4] 735 |l B | &£ 1 13.7
5| 735 iR R ®HE |+ &£ 1 14.1
6| 725 |FEAR #Hx |4t 1 14.2
71728 |5 EgE |k & 1 145
8] 725 [$RF ih A [db 1 14.7
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S8R 1171 A Eig it 19754
5F hE2 34 100m FE
#E |BES KE & | 84 =% ik |38 B |BS KE & | 284 = FoEk |
1 1| 735[)IF EX [£ & 2 lga [12.1 2 1| T702(MAFK HEK Dt B 2 13.1
2| 721|# L EH (U B 3 13.0 2| 7353 X |£ & 2 13.3
3| 725|888 WK it 3 13.0 3| 721(FII A U E 3 13.4
4] 704|%7 HIE [AKH 3 13.2 4] 705[/hMis a1y [HE K 3 135
5| 704 B0 &3  |AKH 3 13.3 5| 704|Fi K FEAN |AXKH 2 13.8
6] 705[F8FE HAER [F K 2 13.7 6] 725|% R it 3 14.0
7| 704[hFt #RABEA [AKH 2 14.6 7] _704|ihHE FER [AXKH 2 14.2
7357 F U T & 3 DNS 8| 728| A%k BH [tk & 2 14.5
3 1| 704[;k& EMH [AXH 3 12.6 4] 1] 704[ILuA #T AXK 3 la [12.1
2| 735|lUK =K | & 2 12.8 2| 725|KH & it 3 12.7
3| 725|KM@ BEE |t 3 13.3 3| 728[fRH Kith [#k & 3 12.8
4] 704|fEkx BEX |AKH 2 13.6 4 120|HE E T 3 13.1
5| 704|FW GEK |[AXKH 3 13.8 5| 705[Eit BX |F K 3 13.7
6] 704[E%0 #K [AXKH 2 13.8 6] 704|FL FIR  |AXKH 2 14.1
7] 702|8H SRFE |k 5B 2 14.3 71 7121|Fi#F BX [0 E 2 145
8| 705/FEE FE |[HF A 2 15.4 8| 735|{Afk #ais [+ A 2 14.8
5 1| 735|%8F Bk | & 2 g [120 6 1] 704[FH f&th |AXH 3 [q [11.9
2| 704\ 4EYE ER |AKH 3 12.5 2| 735\%MH BEX |+ & 2 12.4
3| 721 |BRE =H/ (LB 3 13.0 3| 705|#K B3 |FE K 2 13.0
4] 705|180 It [F K 2 13.8 4| 725|%mM mERI  |db 3 13.2
5| 701[8BX BT [F W 2 13.8 5| 704|8% B3 |AXKH 2 13.2
6| 704|H3 EA |AXKH 2 14.1 6] 72115k% AR (U B 2 13.4
725|& 7k BERE |t 3 DNS 7] T05[{FEE kHE  [H XK 3 13.8
735|F42 BE |+ A& 2 DNS
7 1| 721 H A (U B 3 12.4 8| 1| 704[RELE ERARER |AXKH 2 13.2
2| 701|#ABR E W 2 12.9 2| 721|#EEH BF U E 2 13.2
3| 725|1REk A— |4t 2 13.6 3| 704|#AE BXK |AXH 3 13.3
4] 735(F% + & 2 14.0 4] 705[)IIFF K [&FE K 2 13.5
5| 704|3k%F A |AXKH 3 14.4 5| 135/hx B + & 3 13.6
7043k O BERE  |AKH 2 DNS 6| 728|FHH AR [ & 2 14.0
7135|FE #hE |+ & 2 DNS 7] _706|F% BE W 5 2 14.9
9 1] 721[F&E & Il 3 12.5 10| 1| 705|444 B3 |[F K 2 12.9
2| 704|EA @A |AKH 3 12.7 2| 706|EE BAFS L B 2 13.2
3| 704|#M8 HHE |AKH 2 13.2 3| 735|MFH MK | & 3 13.2
4| 735|;8K EE | & 3 13.5 4| 121|E w3 T 2 13.4
5| 735|HMBk BA [+ &£ 3 13.9 5| 704| K35 HE |AXH 2 13.7
701|HE8E HFE |FE W 2 DNS 6] 728|h#t BE | A 2 14.2
725|F )1 BA |4 3 DNS 704[#3)1] BB |AXKH 3 DNS
11| 1] 735|F84t BE#E |+ & 3 |g [118 12| 1| 7043R¥E #BEH |AXH 3 lg [12.2
2] 721|MEM #HHF [(IU B 3 lg [124 2| 706|#Fm #th L & 3 lg [123
3| 705|FH & & K 3 12.9 3 TA|ER A | E 3 13.0
4] 704| Kt #E |[AXH 3 13.2 4] 728|RH M [ & 2 13.7
5[ 725(@AR Kl ik 3 13.4 5| 735[;kH B4AE | & 3 13.8
6] 735|kE BN | & 2 14.2 6] 704[Kith 5 AXH 2 14.2
7043RE FEH |AXKH 2 DNS 7] 705[lUAR EXKER [E K 3 14.7




BT

e 3%

100m

g [FES| K £ FRE = FCE%

1| 735 |Fa4 BfwE [+ & 3 11.8

2| 704 |PHH &t |[AKH 3 12.0

3| 735 |t8H AR | & 2 12.0

4( 704 [LUA& 4T AXH 3 12.1

5| 735 |JIlgF EX | & 2 12.5

6| 704 JRE HE |AXH 3 12.6

71721 |B& HF/  |IU B 3 12.6

8| 706 |y Fnth |l & 3 12.9
(2185 BEF200m]

SR
BT HpE 14 200m A4 LR
e (ES|] K £ FRE F EoEx |# 8 | BS K _# FRE F 5o %
1 1 735|88 R ®¥iE [+ & 1 29.7 2| 1| 735[chF FE#H | & 1 27.7

2| 702|=HH ZEKRER S 5 1 32.2 2| 725|KFW0 EK O [dt 1 27.9

3| 725[/hEH HSH  [dk 1 33.7 3| 735\ B4 (£ & 1 28.7

4] 735|2H ME |+ & 1 34.3 4 725|@ER 3 |dt 1 32.1

5| 735/MIl BE | & 1 38.4 5| 735[%H EX |[£ & 1 34.2
8+ hE14£ 200m A4 LR

g [BEES| K £ FRE =F it %

1 735 | =23 (£ & 1 27.7

2[ 725 [FL BAX |4k 1 27.9

31 735 |l B34 | & 1 28.7

4] 735 |8 R ®E | &£ 1 29.7

5| 725 |EEA w3 |t 1 32.1

6| 702 |=HH ZEAKER [t 5 1 32.2

71 725 |#HE SH[db 1 33.7

8| 735 |¥7H B + & 1 34.2




(2, 34 B+200m)]

=508k 2370 U NI
57 h32 34 200m ZALRE
#E |BES K _# FRE =F AC 8% B |ES K _#£ = FCi% |
1 1| 725|FTF BB |4t 3 25.2 I EER T 3 24.7
2] 704|tmiE ELR  [AKH 3 25.5 2| 704|#ME FEE 2 27.1
3| 735\ F KX | & 3 27.4 3| 704[£F HH 3 27.1
4] 704|%7 HIE [AKH 3 28.2 4| 725|% A 3 27.3
5[ 725[{FEE K— |dt 2 28.8 5| 728|428 EiE 3 28.1
6] 705[1Rk HEEk [T K 2 30.2 6] 702|BF4 R 3 28.7
7] 735|2H BER |+ &£ 3 30.4 71 721(FJI &N 3 28.8
8| 704\ ch#t #HAE] |AKH 2 30.7 8| T04IFAR FA 2 29.3
3 1 705|EH i H K 3 26.9 1 725|F)Il BXK 3 25.6
2| 728|=N ZAH % & 3 27.2 2| 704|FEA AKX 3 26.2
3| 704|B8FH B |AXH 2 275 3| 701|#ABR 25 2 26.9
4] 704[E%0 #K  [AXKH 2 28.4 4] 7043 F BHE 3 27.3
5| 735|HEK BA | & 3 28.7 5| 704[1EH SHE 2 27.8
6] 735|kH Fi4E | & 3 29.0 6| 721|FR =&t 3 28.3
7] 121|FZE BX |U B 2 29.5 7135|F% RE 2 DNS
5 1| 735[Fa%t EE4E (£ & 3 24.7 1 721K EE= 3 25.7
2| 702(#8 &K HEX [ B 2 26.7 2| 721|EER & 3 26.5
3| 728|=#F WMEE |k & 3 29.2 3| 704[5k%& M 3 26.5
4] 705[F8FE BABR [F K 2 30.0 4] 704/ KT W& 3 27.7
5| 704|H:3 EA |AXKH 2 30.8 5[ 725|@EA K] 3 28.4
6| 704[Kih = AXH 2 31.2 6| 704[3R¥E FIE 2 36.3
7211k AN |4 B 2 DNS 735\ L i 3 DNS
7 1| 7351 EX [£ & 2 25.2
2| 704| LK 4T AKH 3 25.6
3| 706|#8A R | E 2 26.4
4] 721|F8% ¥ |l B 2 27.2
5| 728|MAAK #fith (B & 3 27.9
702\ KiE x5 2 DNS
70403k O BEEE  |AKH 2 DNS
8+ &2, 34 200m A4 LR
g[S | K £ FRE =F it %
1] 735 |aks Ekge |+ 4 3 24.7
1 704 [F9HA &t [AXH 3 24.7
3| 725 | T EBE |4t 3 25.2
3| 735 |l BEX | & 2 25.2
5| 704 |fE¥E ER |AKH 3 25.5
6] 704 [LUA 4T AXKH 3 25.6
6/ 725 [FJ)Il BAX |4k 3 25.6
8l 721 |IAK Eg= 1L & 3 25.7
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£304% 5376 =i —8 F K 19884
BT P¥45E 400m S LRE
FH A & K AT aoek DR[OS |3 5§ AT ALK
1 1| 7218+ #&% (U B 3 1.00.9 2| 1| 725|FTF BB |4t 3 56.8
2] 702|FrHt FeHE [ 5 3 1.07.8 2| 735\ kiE FER |+ A& 3 1.05.5
3| 735|2H BR | & 3 1.10.9 3| 121|E w3 B 2 1.05.7
4] 7T05[1RK HEEK [FE K 2 1.13.2 4| 702|148 KM | 5 2 1.08.8
702|Fm KiE prill 2 DNS 702|FK HEX | & 1 DQ
B+ 3@ 400m A4 LR
B |ES| K £ FRE =F it %
11725 | T BB |4 3 56.8
2| 721 |AM #HHF (U B 3 1.00.9
3| 735 | EiF R | & 3 1.05.5
4] 721 | B3 TS 2 1.05.7
5| 702 |Er4t FiE [ 5 3 1.07.8
6| 702 |{Ef KH [t 5 2 1.08.8
71735 |2H ER |+ & 3 1.10.9
8] 705 [Rk #Egk [&F K 2 1.13.2
[h15E EF800m]
SE0k
8+ hZ14 800m R
B |ES| K £ FRE =F it %
11 735 |FIK BE&E (£ 1 2.49.8
2| 728 |8 XiE % B 1 2.50.5
3| 735 |BRlE M&m | & 1 3.02.2
4] 735 | KF§ —3F |+ & 1 3.12.1




(2, 34 B+800m)]

KLk 2'0473 B#¥ RT ' K 20024
BT B2 34 800m A4 LR
B |BS KE & | 288 =% ik |4 B |BS KE & | ¥k = 50 8%
1 | 1] 702[% 3k xt B 3 2.16.9 2| 721Kt & W B 3 2.24.6
3| 73| EE8 WE |+ & 3 2.31.4 4| 706|fE F= s 3 2.35.4
5| 721|181l £ |4 B 3 2.39.7 6] 702|%IE F& x5 2 2.59.2
704| 5% &F |AXH 2 DNS 72510 xfE  |d 3 DNS
2 | 1| 706|K%¥ Mt [l & 3 2.245 2| 7041 FHM | AKH 2 2.27.7
3| 735|5RH £ |+ & 3 2.29.2 4] 728\ KI5 % A 3 2.29.7
5| 704|¥H B$E |[AXH 2 2.31.5 6| 704|&£F FH#H |AXH 3 2.32.4
7] 704[#0 3 154 |AKH 3 2.33.1 8| 706|@kMR seth |1l & 3 2.45.1
BY P2 34 800m A4 LR
B |ES| K £ FRE ¥ it %
1] 702 |5 2E Pl 3 2.16.9
2| 706 | K# Fth |l & 3 2.24.5
3| 721 | K4 & W B 3 2.24.6
4] 704 |thE R |AKHE 2 2.27.7
5| 735 |5RH £#{3 |+ & 3 2.29.2
6| 728 |k K5 % & 3 2.29.7
71 735 | BB LE |+ & 3 2.31.4
8| 704 [{£H #F [AXKH 2 2.31.5
[FF1E BEF1500m)
ik 474173 BH BF H K 20004
BF hZ 14£1500m
g [BS KE & | ke = Fogx (48 |E |BE KE & | ke = 50 &%
1 1| 728|%k "M | A 1 5.31.3 11 2| 735|FiK EE | & 1 5.37.6
3| 728|1RER HE | B 1 5.44.8 4 725|E@ EBF |4 1 5.49.7
5| 728|5F B4 &k & 1 5.57.9 6] 701| LR #3 |F W 1 6.04.7
7| 706|#AA fHan  |L B 1 6.07.8 8| T701|3R¥E B8 |F W 1 6.09.9
9| 735\ 2K | &£ 1 6.14.2 10 728|iBL #E |#% & 1 6.16.6
11| 735|f FKIE T &£ 1 6.18.6 12| 706|#1H £ |4 & 1 6.21.9
13| 706(%F EEER [IL & 1 6.23.5 14 706|fA = [U & 1 6.25.4
15| 735\ Kf —3% |+ & 1 6.42.9 16| 701[#%R #th [F W 1 6.44.4
728|3 (EFE A 1 DNS 728|mx EE [ & 1 DNS
728|BEH EE |tk & 1 DNS 728|1E R A 1 DNS




[fh=F2, 34F BF1500m)

£E08%4° 1976 TH H s W 19924
BT 2 34 1500m A4 LR
10 |iE | TS K _# FRE =F Fofk |#H (g |BES | K 4 FRE =F FCi% |
1 1| 704|8F #E [AXH 2 4417 11 2| 728|&AR EXER |#% & 3 4.46.8
3| 121 FHE (U B 3 4549 4 735|UKX EX | & 2 5.01.4
5| 735 ZH + &£ 2 5.02.8 6| 728[=% REE [tk & 3 5.05.3
7] 705[thE BA [FE K 3 5.05.5 8| 7014k Bt |F W 2 5.06.5
ol 705|/h@A b |HF K 2 5.08.8 10 728|¥8 BEE |#%& & 2 5.18.6
11| 705[EX #iZ [HF K 2 5.23.7 12| 705|5FE [ER |&E K 2 5.28.3
13| 728[F=F F# (Bt & 2 5.28.5 14| 705|#M #H#E |[HF K 2 5.43.7
15| 725[FHA Kt [dt 2 5.45.7 7043 )1 08 |AKH 3 DNS
705|Fa%t Bl |HFE K 2 DNS _
2 1| 704|% FhiErE  [AXKH 3 450.2 2| 2| 735|BE WE | & 3 454.4
3| 705|Fk —B |FE K 2 4.55.2 4| 728|4ERT KEBE |#%& & 2 4.56.7
5 706|F# w5 3 458.8 6] 705/dt# BA |F K 2 511.5
7] 704[FZ BAKRER [AKH 3 5.13.4 8| 72588 XK&E |[dt 3 5.25.0
9] 705|EAR R [F K 2 5.28.4 10| 705|FJI EK |&E K 3 5.40.3
11| 725|fE% mAA& [t 3 5.50.8 12| 735|9h % MK | & 2 6.01.2
13[ 705|HH Z= & K 2 6.14.9 728| EH £ |k & 3 DNS
705|¥tfz 2 ' X 2 DNS 70437 FEY |AKH 3 DNS
B+ 2 34 1500m A4 LR
B |ES| K £ ERE = iC %
11704 |1B8H #IE [AXH 2 4.41.7
2| 728 | A EAXE % & 3 4.46.8
3| 704 |= FBEFE  |AXKH 3 4.50.2
41 735 |BEE WE |+ & 3 454.4
5| 721 |38 F#HE (U B 3 4.54.9
6] 705 |k —KB |FE K 2 4.55.2
7] 728 [fEFT K[E  |#%k & 2 4.56.7
8| 706 [F #H W s 3 4.58.8
[h=HE@ EF3000m)
235088 9° 1074 EHF = B W 1992%
BF % 3000m Rk
10 |E | &S K £ FRE || EE | |E (FS K 4 FRE  F | B | FEE
1 1| 721|)@E% BXBE [0 B 3 10.51.5 1] 2| 704|387 T A |AXKH 3 11.06.4
3| 728|hn#Am HH | & 2 11.15.4 4| 725|888 K& |dt 3 11.27.2
5| 7045kAK B |AKH 2 12.03.1 735|F% M e |+ A& 3 DNS




(22, 3% BF110mYH]

£itEk 1572 XEE FF o 19954
BF th=2, 34 110mYH(0.914m) 24 LR B
tH|&E [FS K 4 A 2 ik |ME |E |BS K 4 A 2 SCER
1] 1| 735|lUK FTK | & 2 17.4 2| 1| 721|H#E EH | B 3 19.1
70623 A Il E 3 DNS 2| 725|%E WK |4t 3 20.3
8% 2 34 110mYH(0.914m) FALREE
B |ES| K £ FRE =F it %
11735 |IUAR =K (£ & 2 17.4
2| 721 |#E B |4 BE 3 19.1
3] 725 ({28 AKX [dt 3 20.3
[hAEEFE BF4%x100mR]
£E28% 5270 A K H R 20044
it BERER 20084
BF i E4F4X100m R
t- 1-
#HE[ES K & |F&4% 24— FER IE| FS K & |4 ¥ 14— i
735 [BFH BEX [ &% 2 |1 702 (f2fE] KH |[H 5 2 |1
735 | F=HES (£ & 11 2 702 |3t iRk 5 1] 2
1735 ALt #1%&  |£ & 113 2| 702 |SH EKXER|F 5 113
735 |IUX =K | & 2| 4 51.1 702 (2K K | B5 2 | 4 54.1
735 |F% tH T &£ 2
735 |HfH EX |+ & 1
725 [FAE Xt (4 2 |1 701 [#ABR & =5 2 | 1
725 |/l BARK |4t 1] 2 701 [luEO BE =77 1] 2
3| 725 | ¥R #®mAEk |4t 11 3 4| 701 (Ig B =77 113
725 |[{FE K— |4t 2| 4 56.3 701 [BBR BE |F W 2 | 4 57.2
1 725 [#HF# EF |4 110 701 |# &K =385 110
0 701 _|#ETE HE  |F W 210
728 | BE (Bt B 2 |1 735 [Hf =X (£ & 2 |1
#H 728 |53 EEE |tk B 1| 2 735 []RR W (£ & 1] 2
5| 728 |{FEB HE |#%k B 113 6| 735 |!MIl & | & 113
728 |RH H"HE |tk B 2 | 4 58.3 735 | EKER (£ & 2 | 4 58.6
735 |k#E BN | & 2
735 [AlE 5 + &£ 1
728 | K R |#& & 2 |1 702 (BF BE [k 15 2 [ 1
728 |®R 1B A 1] 2 702 |#ifE BEE )t & 11 2
7728 [{REH EBE | & 1] 3 .| 702 |BE HE |t 5 113
728 |=H fEAER (B & 2 | 4| 1.007 702 (B8 KiE & 5 2 | 4 DNS




FHE BF4x100mR]

S04% 4873 F KR 20074

REEdtE 384 % 100m FE
- t-
EE K & |4 ¥ 14— FOfF IE| FS K & ¥4 ¥ 14— i
721 (B E&H (U B 3| 1 706 (EKr Mt [ & 3|1
721 |BER St ' 3| 2 706 (HHAK R [ & 2 | 2
721 (8K BE= (L B 3|3 q 2| 706 | K7 #th | & 3|3 q
721 stH #=A | B 3| 4 49.1 706 |&F &A | E 3| 4 50.2
721 [FER =8 (U B 3 706 |EE BAF WL & 2
706 &% fEE W 2
704 |#3)I BB |AKH 3| 1 728 (BRF Kih [tk & 3| 1
704 (fEYE ER  |AKH 3| 2 728 BN Z=AXH [# & 3| 2
704 AR @A [AXKH 3|3 q 4| 728 |f8 Eifg ) B 3|3 q
704 | Kt & |AXH 3| 4 50.7 728 (WK #fA (B & 3| 4 52.1
735 |!hgx B + & 3 (1 725 |#MA A (4 311
735 | Rk BA (X & 3| 2 725 |F) BEKX |4 31 2
735 [kH BAE | & 3] 3 .| 725 (KB 1@ it 313
735 |MAH K | & 3| 4 54.4 725 | T BE |4 3| 4| DQ2-3
735 |2H BER (£ & 3 725 (¥ FREEA |t 3
735 Bk BE |+ 4 3 725 |g&A Al |4k 3
735 |l EX | & 2 |1 704 [lLA 4T AXKH 3| 1
735 |FEFT BERE | & 3| 2 704 |FAE &t |AXKH 3| 2
7135 |f@H BER [ & 2|3 q 2| 704 |IRE BE |AXkH 3|3 q
735 [iEL 1@ T &£ 3| 4 48.3 704 |k&E B |AXH 3| 4 48.4
735 | H X [ & 2
735 |1EBk 18 (£ & 2
721 | BF |L B 2 |1 705 |[EXK B3 |[F K 2 | 1
721 [B w3} L E 2| 2 705 |)Ilig XK |F K 2| 2
721 |HE [E B 3|3 q 4| 705 |FEFR BOKEB |HF K 2|3 q
721 |HLE Hth | B 3| 4 52.0 705 (fE#K R} |HFE K 2| 4 52.8
721 |#@I A L B 3 705 (A @ & K 3
721 k8 £AN (L B 2 705 |&0 B |FE K 2
728 |EH &£ (B & 3 (1
728 |HE f@ ) B 3| 2
728 |k K& ) B 3|3
728 |Af EKREB |#% & 3| 4 54.9




I I
L5 = P < I = 5 ST S el M3 4 JIE | h—b SR R M = <R O e M M
704 |IiA AT JCKHE 31 735 P #ERK | £ A 2 1
704 |FHE B | AKkH 3 2 735 |EAY BRE | & A& 3 2
1| 704 |3 HE | AKH 3 3 2| 73 |[fEH JHIE | B A& 2 03
704 k& FEME | ACKH 3 4 48. 4 735 |1 E U + A& 3 4 48.5
735 KA KR + £ 2
735 \WERE g | - A 2
21 |HAT A B 3 1 706 |®RTH Foth w3 1
721 |BER 6 B3 2 706 |FEA MR w2 2
3| 721 [\ BEsE | W BE 33 4| 706 | K% Fu w3 3
721 |ikEH FA B 3 4 48.7 706 [ fRA % 3 4 50. 8
721 (R seRt | b B3 706 |EH OBy | b oW 2
706 | HEH w2
704 |[#A)I BB | ACKH 3 1 705 [ BGER O| BROR 201
704 |fRidE EY- | ACKH 3 2 705 [JIEE FERX | B K 20 2
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